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.
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.
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1/ d2y/dx2 Mx/EIx 1

P mg

, x

M= P x .

d2y/dx2 P/EI x 2

y

y P 3/EI x/ 2/2 x/ 3/6 3

. yB x

= P 3/ 3EI mg 3/ 3EI 4

. m

ks= 3/3EI .
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c , ks y

m d y/dt2+c dy/dt+ksy=0 5

ks/m ,c N/sec m c

- 129 -



2m ,h c/ 2m ,
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ks=P/ =3EI/ 3

, o= ks/m 3EI/m 3

T=2 / o 4 2m 3/3EI sec .
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Q
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c c

y dy/dx P

.
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P .P
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.P u /2 , tan u , P

Pcr= 2EI/4h2 .

k

T

. -2 .

-2 P , , ,

P/Pcr

3 tan u-u /u3 u3/3 tan u-u / 0 T/T0

0 1 1 1 1
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P . 30

P Pcr

. 0 8 .

,

.

30 .

.

.

30

, .

,

. fn fn n/2 S/ 31

: m n=1,2,3, S:

N : kg/m .

,

,

,

.

,

.

,

,

.

.

.

.

EId4y/dx4 w . ,

F, F .
2y/ t2

F 2y/ t2

. w

EI 4y/ x4 F 2y/ t2 32

.

Y x sin t

EId4Y/dx4 F 2Y 0 33
4 F 2/EI
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